B

FeEx (HERL)

KBRS (i © 3
L3l MAZ=E (m) IREANE | 9~138F | 13~1T8 | 9~1THF
2 b HHE= (%9 87) #7140 % 4,950 4,950 7,700
28 | HhI=EE (79 55) 930 & 8, 800 8, 800 15, 400
3 | R=ZT|=E (K178) #1702 7,700 7,700 12,100

HPSERERS
=gl HMAZE (m) IRBAE | 9~138F | 13~178 | 9~1TH
2 [ HHE= (#987) #7140 % 6, 600 6, 600 11, 000
28 | HhRI=EE (79 55) #9130 & 11, 000 11,000 17, 600
3B azE (F178) | #1702 9,900 9,900 16, 500

TAIERERS
L=gill MAZ=E (m) IRBANE | 9~138F | 13~1T8 | 9~1THF
2 b wHE= (%9 87) #9 40 & 7,700 7,700 12,100
20 | FRI=EE (8955) 930 & 13,200 13,200 19,800
3 | REZERE (K9178) #9170 & 12,100 12,100 18,700

HIERERR

1 RfEIC DS

20 | HHEE 800
3 | FRIREE 800

3

A=Z=E | 1,600
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